nHTEPCK{ON

I'b-42/145

923 .**.**.**.**

I'’”A3BOHOKOCHWJIKA BEH3MHOMOTOPHAI

Jleiicteutenen c:| 23.02.2025

KaraJjor 3anacHbIX YyacTei

ApTHKYJI HaumMeHoBaHuUe 1eTaJIH Ne Ha cxeme XapakTepuCTHKA Koa-Bo m./u3a.
00.02.04.04.20 Boar M8X41 CXEMA 1A-1 |M8X41 2
896.00.00.01.05 !Illait6a mnockas ®8.5xP16x1.5 1A-2 PO8.5xP16x1.5 2
921.00.00.01.21 laiika GapaiukoBas 1A-3 PP, G46 2
923.00.00.11.04  iKproK-KpOHIITEHH KPEIJICHUsI PYYKH CTapTepa 1A-4 Q235, ¢6 1
00.02.01.01.18 Taiika M6 1A-5 M6 1
923.00.00.11.06  !OcHoBaHHE PyKOSTH MPABOE 1A-6 Q235 ¢19/t=1.0 1
923.00.00.11.07  {OcHOBaHHE PYKOSTH JIEBOE 1A-7 Q235 ¢19/t=1.0 1
923.00.00.11.08  iKperuieHre OCHOBaHHUS PYKOSTH 1A-8 PP 2
923.00.00.11.09  iCkoba 1A-9 ABS 1
923.00.00.11.10  }®uxcarop Tpoca 1A-10 PAG6+GAF 1
00.02.04.02.24 bont M6X32 1A-11 M6X32 1
00.02.01.01.18 Taiika M6 1A-12 M6 1
923.00.00.11.13  iHaxuazka pblyara 1A-13 NBR, ¢19x440x5 1
923.00.00.11.14  {PykosiTka 1A-14 Q235¢19/t=1.0 1
923.00.00.11.15  {PbIyar OTKIIOUECHHUS IBUTATENS 1A-15 Q235 ¢7 1
923.00.00.11.16 i TpocHK psIYara OTKIIOUCHHS JBUTATEIs 1A-16 G639XXNO0000 1
923.00.00.12.01  i/urarens Y 145V B c6ope 1B-1 Q16\Y145Vv 1
454.03.12.11.00  iBont M8X25 1B-2 MB8X25 3
923.00.00.12.03  iIInonxka 4.775x5%30 1B-3 45, 4.775x5%30 1
923.00.00.12.04  idnanew KpemIeHUs! HOXa 1B-4 Q235, G46 1
923.00.00.12.05 iHox 1B-5 40MnB 1
923.00.00.12.06  {IllaiiGa 1B-6 65Mn, t=3 1
923.00.00.12.07  {boxar 1B-7 20Cr, 3/8-24UNFX35 1
923.00.00.13.01  !KonnekTop 1C-1 PP 1
923.00.00.13.02 Brynka 1C-2 PVC, G46 1
923.00.00.13.03  iBunr ST5.0X16 1C-3 ST5.0X16-F 9
923.00.00.13.04  i/lexa 1C-4 t=1.0 1
923.00.00.13.05 BceraBka Ayt My IbUHpOBaHUS 1C-5 PP 1
923.00.00.13.06  :ITanens 3axHss 1C-6 PP 1
923.00.00.13.07  iHaxmaaka nepexHss IIaCTHKOBAst 1C-7 PP 1
923.00.00.13.08  {Bunr ST4.8X13-C 1C-8 ST4.8X13-C 2
923.00.00.14.01 Ppryar peryJmpoBKH BBICOTHI CKAIMBAHMS 1D-1 PP 1
923.00.00.14.02  iOcp KomecHas 3aHss 1D-2 Q235 1
923.00.00.14.03  iOcpb xoecHast HepexHss 1D-3 Q235 1
923.00.00.14.04  {Brynka 3agHeii ocu 1D-4 PA6 2
923.00.00.13.03  {Bunr ST5.0X16 1D-5 ST5.0X16-F 4
923.00.00.14.06  !Illaii6a npy>xuHHas (BomHOOOpa3Has) ¢13X¢23.5X0.3X2.5 1D-6 65Mn@13X23.5X0.3X2.5 2
896.00.00.01.05  iIllait6a mockas ®8.5xP16x1.5 1D-7 D8.5xP16x1.5 2
793.02.00.12.00  ibont M6x12 1D-8 M6X12 2
00.02.01.01.18 Taiika M6 1D-9 M6 2
779.00.00.02.06  !T"aiika M8 1D-10 M8 4
923.00.00.14.11  iTsra 1D-11 Q235 912 1
921.00.00.03.14  iITanen 1D-12 D1.6X27 1
923.00.00.14.13  iKoneco nepennee 6" 1D-13 PP 2
923.00.00.14.14  {Konmak nepemHero Koieca 1D-14 PP 2
923.00.00.14.15  iKomneco 3axHee 7" 1D-15 PP, X46 2
923.00.00.14.16  iKonmaxk xoxeca 7" 1D-16 PP, X46 2
00.02.01.01.18 Taiika M6 1D-17 M6 1
923.00.00.15.01  {Pyuka TpaBOocOGOpHUKA 1E-1 PP 1
923.00.00.15.02 ! TpaBOCOOPHUK BEPXHSS 4acTh 1E-2 PP 1
923.00.00.15.03  iKpsIka 3aqsss 1E-3 PP 1
923.00.00.15.04  iTpaBOCOOPHUK HMKHSS 4AaCTh 1E-4 1
923.00.00.15.05  {Pama TpaBocOOpHHUKA 1E-5 Q235 7.5 1
923.00.00.15.06  :ITmactiHa KperieHHs 1E-6 Q235, t=1.5 2
923.00.00.13.03  :Bunt ST5.0X16 1E-7 ST5.0X16-F 2
923.00.00.15.08  iKommavok 1E-8 PP, G46 2
923.00.00.15.10 Ocb 3aHell KPBIIIKH 1E-9 Q235 1
923.00.00.12.08  !BunTt ST4.2X15 Cxema 2A3-1 1ST4.2X15-C 98 3
923.00.00.21.02 Kpprmka npuratens 2A3-2 PP 1




923.00.00.21.03 Haxamka nekopaTHBHAsT KPBIIIKA JBHTATENS 2A3-3 PP 1
00.02.01.01.18 Taiika M6 2B1-1 M6 3
923.00.00.22.02  iCraptep B cOope 2B1-2 1
923.00.00.23.01  {BosxyxoBona 2C6-1 PP 1
779.00.00.22.07  1Taiika M14X1.5 2D1-1 M14X1.5 1
923.00.00.24.02  iXpanoBuk 2D1-2 08F, 1P65F 1
923.00.00.24.03  {Kpobuibuarka 2D1-3 PP 1
923.00.00.24.04 Bont kpemenus Bo3nyxoBoaa 2D1-4 1P65F 1
00.02.04.02.12 Bont M6X25 2D1-5 M6X25 1
923.00.00.24.06  iCpeua 3axuraHus 2D1-6 TORCH F6RTC 1
923.00.00.24.07 Mopyib 3aKUTraHust 2D1-7 1
923.00.00.24.08  {MaxoBuk 2D1-8 HT200 1
923.00.00.24.09  iKoxxyx MaxoBHKa 2D1-9 1
00.02.04.01.64 Bont M6X18 2D1-10 M6X18 2
923.00.00.25.01  iTopmo3 nBuraress B coope 2E1-1 Y145V 1
00.02.04.02.20 Bont M5X12 2E1-2 M5X12 2
00.02.04.01.66 Bont M5X18 2E1-3 M5X18 1
923.00.00.25.04  iboar 2E1-4 454#, Y145V 2
779.00.00.11.16  iboar M5X10 2F1-1 M5X10 3
923.00.00.26.02  {Kpblmika rirynmTens 2F1-2 1
740.04.00.05.00 {Boar M6X30 2F1-3 M6X30, T8/13 2
923.00.00.26.04  I'mymmresns B cOope 2F1-4 1
923.00.00.26.05  iYmIoTHEHHE IITYIIHTENs 2F1-5 1
923.00.00.26.06  iBrynka omopHas 2F1-6 Q235 2
00.02.04.02.20 Bont M5X12 2G1-1 M5X12 4
923.00.00.27.02  {KppbImka KianaHHas 2G1-2 1
923.00.00.27.03 i YmIoTHEeHHE KPBIILIKH KIalaHHON 2G1-3 1
792.05.00.08.00  iBont M8X45 2G1-4 M8X45 4
923.00.00.27.05  iKopomsicio kianaHa 2G1-5 2
923.00.00.27.06  !Ocb 2G1-6 20Cr 1
923.00.00.27.07  iTapenka onopHas NPy >XKUHBI KJIaraHa 2G1-7 40Cr, 1P65F 2
923.00.00.27.08  illpyxuHa KianaHa 2G1-8 2.0-50CrVA/1P70FA 2
923.00.00.27.09  {CanpHHKH KJIalaHOB KOMILICKT 2G1-9 1P65F 2
923.00.00.27.10  {TonoBka umIMHApa B cOope 2G1-10 ADC12, 145CC 1
923.00.00.27.11  !Knanau 2G1-11 21, 625 2
923.00.00.27.12 YII0THEHHE FOJIOBKHU LFIHHIPA 2G1-12 Y145V 1
923.00.00.27.13  illltanra 2G1-13 2
923.00.00.27.14  Tonkarenb 2G1-14 20CrMo, 2
923.00.00.27.15  {PacnpexBai B cGope 2G1-15 PA66, Y145V 1
923.00.00.28.01  iIInmmbka M6X92 2H1-1 M6X92 2
923.00.00.28.02 i YmIoTHEHHE BIIYCKHOIO KOJUIEKTOPA 2H1-2 Maciocroiikast 6e3ac6ecToBasi KOMIO3UTH: 1
923.00.00.28.03  iKoJekTop BIyCKHOIA 2H1-3 anbAeruIHO-(heHONbHAs cMOJIa 1
923.00.00.28.04  {YmiorHeHue kapbroparopa 2H1-4 Maciocroiikast 6e3ac6ecToBasi KOMIO3UTHE 1
923.00.00.28.05  iYmiorHeHue GUIBTPa BO3LYLIHOIO 2H1-5 1
923.00.00.28.06  illlnanr camyHa 2H1-6 NBR 1
00.02.01.01.18 Taiika M6 2H1-7 M6 2
923.00.00.28.08  {DaemeHT GHIBTPYIOIIHIA 2H1-8 I'uOkuit neHomnonyperasn 1
923.00.00.28.09  {Kpsimika GpuibTpa BO3LYIITHOTO 2H1-9 PP 1
923.00.00.28.10  illpaiimep 2H1-10 PAG+ 1
923.00.00.28.11  iKoub110 cTOHOpHOE 2H1-11 1P65F 2
923.00.00.28.12  |Ilnanr mpaiimepa 2H1-12 03.5%06.5 1
923.00.00.28.13  {Kapbroparop 2H1-13 1
923.00.00.28.14  iKopmyc (GumbTpa BO3AyLUIHOIO 2H1-14 PP 1
923.00.00.29.01  illlyn 2J)-1 PAG6+GF15 1
923.00.00.29.02  iKomnbmo ymiotHuteabHoe ¢13.2x¢2.4 2J-2 013.2x¢p2.4 1
923.00.00.29.03  !TopsioBHHA 3aJIHBHAsI 2J-3 PA66+GF15 1
00.02.04.04.09 Bunt M4x10 2J)-4 M4x10 2
923.00.00.29.05  iKomnbio ymiotHuteapHoe ¢17.2%¢2.4 2J-5 017.2x¢@2.4 1
923.00.00.30.01  iKaprep B c6ope Y145V 2K-1 1
923.00.00.30.02  {Canpruk 22x41.25%7 2K-2 ®dropanacromep, 22x41.25x7 1
923.00.00.30.03  {Kopowmpiciio perymstopa 000poToB 2K-3 45# 1
00.02.02.02.38 [TaiiGa 2K-4 06.5Xp12X1 1
923.00.00.30.05 iCanphuk 6x11x4 2K-5 ByTranueH-HUTPUIBHBIN Kaydyk, 6x11x4 1
923.00.00.30.06  IImnuHT Opy>KUHHBIH 2K-6 IpY>KUHHO#T ctanb, 1P65F 1
923.00.00.30.07 Knanan 2K-7 HepiKaBeromias ctainb, t=0.2 1
923.00.00.30.08  :Bunut PH c npeccuraii6oit 2K-8 M4x6 1
923.00.00.30.09 i VruioTHeHHE KPBILIKK calyHa 2K-9 1
923.00.00.30.10  {KpsIika camyHa 2K-10 ADC12 1




923.00.00.30.11  iBunt PH noraiinoit M4X10 2K-11 M4X10 3
923.00.00.30.12  iBrynka HanpaBIsIOIIast 2K-12 10x16/1P65F 2
923.00.00.31.01  iKomnpLo mopurHeBoe KOMIIPECCHOHHOE | 2L-1 AEDS60, 1.0, ¢65 1
923.00.00.31.02  {KombLo mopuraeBoe KoMipeccrHonHoe 11 2L-2 AEDQO2, 1.0, ¢65 1
923.00.00.31.03  iKonbLo MacnocrkeMHOe 2L-3 AEDS72, ¢65 2
923.00.00.31.04  iKobLo omopHOe 2L-4 AEDS40, ¢65 1
923.00.00.31.05  iIlopmrens 2L-5 1
923.00.00.31.06  {CronopHOe KOJIBIIO HaJTbIa IOPIITHEBOTO 2L-6 65Mn, 12G1 2
923.00.00.31.07  iIlaner mopruHeBOM 2L-7 ML20Cr, ¢5.5%x@12x45.6 1
923.00.00.31.08 illlatyH B cOope 2L-8 ol2, ¢22.2, 70 1
923.00.00.32.01  iKonensax B coope 2M1-1 KoBkuit uyryn, Y145V-Q161 1
923.00.00.32.02  |IIaiiba ¢25.5x(36x1.0 2M1-2 025.5%936%1.0 1
923.00.00.33.01  !Brynka HanpaBisiomas ¢6.5Xe8X10 2N-1 06.5X08X10 2
923.00.00.33.02  :YmoTHeHHe KapTepa 2N-2 Macinocroiikas 6e3acOecToBas 1
923.00.00.33.03  iIllaiiba ¢6.1X@15X0.5 2N-3 06.1X¢15X0.5 2
923.00.00.33.04  iBau co CTOMOPHBIM KOJBLOM 2N-4 45# 1
923.00.00.33.05  iIllecTtepHs orpaHuyYHTENbHAS B cOOpe 2N-5 PA66 1
923.00.00.33.06  iBrynka 2N-6 PA66+GF15% 1
923.00.00.33.07  iPbryar 2N-7 65Mn, 1P65F 1
793.02.00.12.00  iboar M6x12 2N-8 M6X12 1
923.00.00.33.09  {Kpeoimka kaprepa 2N-9 ADC12 1
740.04.00.05.00  !Boar M6X30 2N-10 M6X30, T8/13 7
923.00.00.33.11  iCanpHHK KOJIECHYATOro Baja 2N-11 droprayuyk, 25x40x7 1
923.00.00.34.01  iTsra apoccenbHOM 3aCIOHKH 2P1-1 HepIKaBeIOI[ail CTabHAs MIPOBOJIOKA, (2 1
923.00.00.34.02  iIIpyxwuHa APOCCETBbHOI 3aCTOHKU 2P1-2 HEpIKaBEIOII[ail CTaNbHAs IPOBOJIOKA 1
923.00.00.34.03  ibont M6x23 2P1-3 M6X23 ¢ T-00pa3HOii TOJI0BKOA 1
923.00.00.34.04  iPpivar peryaupoBKu 000pOTOB 2P1-1 SPCC, 1
00.02.01.01.18 Taiika M6 2P1-2 M6 1
793.02.00.12.00  {boar M6x12 2P1-3 M6X12 2
923.00.00.34.07  !Kponuireitn 2P1-4 Q235 1
923.00.00.34.08  :IIpyxwuHa 2P1-5 Y145V 1
923.00.00.35.01  iKpplmka TOmmMBHOrO 6aka 2P1-6 PA6, 1P65F 1
923.00.00.35.02  {YmioTHEeHHE KPBIMIKH TOIUTUBHOTO Oaka 2P1-7 NBR, 1P65F 1
923.00.00.35.03  {OrpaHH4MTENb KPBIIKK TOILTMBHOTO OaKa 2P1-8 PA6, 1P65F 1
923.00.00.35.04  iBak TOIUIMBHBIA 2Q-4 HDPE, 1
00.02.04.02.24 Bont M6X30 2Q-5 M6X30 1
923.00.00.35.06  illlaiiba rpoBepa 6 2Q-6 6 1
923.00.00.33.03  {[Iaiiba ¢6.1X@15X0.5 2Q-7 ©6.1X¢15X0.5 2
00.02.04.01.77 Bont M6X22 2Q-8 M6X22 1
923.00.00.35.09  iVmorHeHue 2Q-9 PAG6 2
00.02.01.01.18 Taiika M6 2Q-10 M6 1
923.00.00.35.11 i TormMBOIPOBOL 2Q-11 Hurpunossrii kayuyk, L 280 1
923.00.00.35.12  {Xomyr II 2Q-12 npyxuHnbiii, 1P65F 1
923.00.00.35.13  13axum 2Q-13 Q235, 1P65F 1
923.00.00.35.14  iTomnuBompoBoA GHHILTPa 2Q-14 HDPE, 1P65F 1
923.00.00.35.15  iXomyr I 2Q-15 1P65F 1
923.00.00.35.16 | ®wuabTp 2Q-16 Meranuueckas cetka /I P65SF 1

HHTEPCKO.I




NHTEPCK{ON

Pa3oopHas cxema 1

JleiicTBuTeneH ¢

I'b-42/145

| APTHKYT U31eTHs: 923 FF Fx Kk k%

23.02.2025

[5]

Mone]  X42P—B1

NO.231 71003




Pa3oopHas cxema 2

JlelicTBUTENEH C

I'b-42/145

ApTHKyT u3aenus:

923 '**.**'**.**

23.02.2025

NHTEPCK{ON

B1

cé




S_2
3 5
&
/_,@)—7
g ~R_8
g Z J e
%3 14 15




